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Run 5117 quartetwise, posH(O: Beam DIN

aam lasl posHc

- Laser ON Entries: 19997 Entries: 36047
— Mean: 17.1010 +- 0.0217 Mean: 4.4298 +- 0.0006 36947
— — Laser OFF Std Dev: 3.0609 +- 0.0154 | Std Dev: 1.8889 +/- 0.0068 4.43
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Run 5117 quartetwise, asym0Osub: Beam ON
— Laser ON Entries: 19997 Entries: 36847
- Mean: -35.2120 «/- 0.2863 Mean: -0.0011 +/- 0.0716
B — Laser OFF Std Dev: 407635 +- 0.2038 | Std Dev: 127556 +- 0.0506
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Run 5117 quartetwise, negHO: Beam DIN

LE.EE[ DN entries: 199497 entries: 36545
Mean: 179281 +- QLOZE3
LE.EE[ DFF ol Dew: 31577 - 0.01 538

aami_lazl nagHD

Mean: 4.4298 +- 0.0086 36947

a1d D 4.43
ev: 1.8893 +- 0.0070

oo 1.889
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-------- Histogram Vars
Positive Hel (ON): 17.101037 +/- 0.021709
Negative Hel (ON): 17.928102 +/- 0.022287
Positive Hel (OFF): 4.429799 +/- 0.009827
Negative Hel (OFF): 4.429826 +/- 0.009829

-------- Sums and Diffs

On Diff: -0.827065 +/- 0.004794

Off Diff: -0.000028 +/- 0.001873
On Sum: 35.029139 +/- 0.043738

Off Sum: 8.859625 +/- 0.019566
-------- Asymmetries
On Asym: -31.604157 +/- -0.192114 (ppt)
Off Asym: -0.001053 +/- -0.071563 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 26.169514 +/- 0.047915
BkSub Asym: -31.603103 +/- 0.205010 (ppt)




asym (AccO) / ppt

Run 5117 quartetwise, posHO vs time
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Run 5117 quartetwise, asym0Osub vs time
150 —
100 — L
s~ '
= L L
oE b+ + [
—5'.'.?:— ! |. E!
~150 — :
—Eﬂl:l':—
—EED:—
Ell|||||||||||||||||||||||||||||'|||||||||||
0 20 40 &0 80 100 120 140 160 180 200

Entryd

«10°

*10

negHOD
[
(R

R = o oo

=
=

bem

140

120

100

B0

60

.
=

(g
o

(=3
(=
—

Run 5117 quartetwise, negHO vs time
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Run 5117 quartetwise, bcm vs time
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